Three types of steers were fed two different types of grain in an experiment.  The amount of prime meat obtained from each steer was measured in KG.  There were three replicates from each population.

Fill in the blanks

Source       DF       SS       MS     F      P

steer        __   ______      ____           ___  

grain        __    93.38      ____           ___  

Interaction  __   607.30      ____           ___  

Error        __   531.55      ____

Total        __  1994.45

State the hypotheses and interpret the pvalue for ‘grain’

State the hypotheses and interpret the pvalue for ‘interaction’
What is the best estimate for the common variance of each sample?

